EXERCICE I

A= x²+10x+25       B = x²– 10x +25    C = x²– 25       D= 4x²–28x +49       E= 100x² + EQ \s\do1(\f(20;3))x + EQ \s\do1(\f(1;9))       F = x² –2,4x + 1,44

G = EQ \s\do1(\f(1;x²)) + EQ \s\do1(\f(2x;x)) + x² = EQ \s\do1(\f(1;x²)) + 2 + x²       H = 49x² –  EQ \s\do1(\f(14;3)) x + EQ \s\do1(\f(1;9))     I = 0,49 – x²     
 J = (11–a) (a +11)²  = (11– a) (a² +22a +121) = 11a² +242a +1331 – a3– 22a² –121a =  –a3 –11a² +121a +1331
 eq \x(EXERCICE II)

1°)  4 x 2 + 20x + 25 = ( 2x + 5 ) 2
2°)  x 2 – 20x + 100. = ( –x + 10 ) 2
3°)  x² + 14 x + 49 = ( x + 7) 2
4°)  9x² – 12 x + 4 = ( -3x +2 ) 2
5°)  64 + 48 x + 9 x 2  = ( 8 + 3x) 2
6°)  4 x 2 + 20x + 25 = ( 2x + 5 ) 2
7°)  x 2 – 16  = ( x + 4) ( x + (– 4 ))
8°)  x 2 – 49 = ( x + 7 ) ( x + (– 7) )

9°)  121 – 4 x 2   = ( 11 + 2x ) ( 11 – 2x )
10°)  ( 3 x + 5 ) 2 = 9x² + 30x + 25

11°)  ( x + 4 ) 2 = x² + 8x + 16
12°)  ( 3 x – 3 ) 2 = 9x² + (– 18x ) + 9

13°)  ( 3 x + 4 ) 2 = 9x² + 24 x + 16
14°)  ( 2 x – 6) 2 = 4x² – 24 x +  36
15°)  (EQ \s\do1(\f(1;2))  + x ) 2 =  eq \s\do1(\f(1;4)) + x + x 2
10°)  ( 4x² – 9 ) = (2x + 3 ) ( 2 x – 3 )

 eq \x(EXERCICE III)

1°)  x 2 – 6 x + 9         2°)  x 2 + 4 x + 4                 3°)  4 x 2 – 8x + 4                            4°)  ( 3 x ) 2 +  24 x + 16 
         (x –3)²                         (x + 2)²                                ( 2x – 2 )²
           (3x +4 )²
 eq \x(EXERCICE IV)


1°) K = x 2 + 6 x + 9 = (x +3 )²
2°) L = 25 x 2 – 40 x + 16 = ( 5x – 4)²
        3°) M = 9 + 30 x – 25 x 2 = non
3°) N = 9 – 30 x + 25 x 2
  = (3 – 5x )²     5°) O = 16 x 2 + 8 x + 1 = ( 4x + 1)²     6°) P = 9 x 2 + 6 x + 4 = non
 eq \x(EXERCICE V)
1°) Q = x 2 + 2 x + 1 = ( x+1)² = (x+1) (x+1)
2°) R = x 2 – 2 x + 1 = (x – 1)² = (x – 1) (x – 1)


3°) S = x 2 – 10 = (x -EQ \r(10)) ( x +EQ \r(10))                            4°) T = 4 + x 2 + 4 x = (2+ x)² = (2+ x) (2 +x )
5°) U = – 4 x + 4 + x 2 = (2 – x )² = ( 2 – x ) ( 2 – x ) 
          6°) V = 1 – x 2 = (1 – x) ( 1 + x)


7°) W = 4 x 2 + 4 x + 1 = (2x + 1 ) ² = ( 2x + 1 ) ( 2x + 1 )      8°) X = 1 + 4 x 2 – 4 x = ( 1 – 2x)² = ( 1 – 2x ) ( 1 – 2x )
9°) Y = 169 x 2 – 4 = ( 13x – 2) ( 13x + 2 )     

 10°) Z = ( 2 x – 1 ) 2 – ( 2 – 3 x ) 2
= [( 2 x – 1 ) – ( 2 – 3 x )]  [ ( 2 x – 1 ) + ( 2 – 3 x )] = (5x – 3 ) ( –x +1)

11°) AA = 9 x 2 + 12 + 4  = erreur double produit incomplet devrait être 12x
12°) AB = 4 x 2 – ( x – 3 ) 2 = [ (2x – ( x – 3 ) ]  [ (2x + ( x – 3 ) ]  = (x +3 )  (3x – 3)
